
John Deere > Agriculture >COMBINE >9870STS - COMBINE >9870 STS Self-Propelled Combine (Worldwide Edition) (PC9661) >150 GRAIN TANK AND 
UNLOADING AUGER >Grain tank - ST200477

Copyright © 2020 Deere & Company. All Rights Reserved.



John Deere > Agriculture >COMBINE >9870STS - COMBINE >9870 STS Self-Propelled Combine (Worldwide Edition) (PC9661) >150 GRAIN TANK AND UNLOADING AUGER >Grain tank - ST200477

KEY PART NO. PART NAME QTY Serial No. REMARKS

1 AH202953 Cover 1

2 AH233122 Tank 1 ______-
735100

SUB FOR AH219897

2 AH225502 Tank 1 735101-
740100

2 AXE30238 Tank 1 740101-
______

SUB FOR AXE15708

3 AH212644 Cover 1

4 AH154704 Door 1

5 19M7830 Screw 4 M16 X 150

6 H203689 Channel 1

7 H203687 Panel 1

8 H202069 Clevis 2

9 19M7867 Screw AR M8 X 25

10 14M7298 Flange Nut AR M8

11 03M7191 Bolt 1 M10 X 25

12 AH108299 Isolator 2

13 19M7788 Screw 4 M12 X 25

14 14M7299 Flange Nut 4 M12

15 AH214045 Shield 1

16 N198631 Clamp 2

Copyright © 2020 Deere & Company. All Rights Reserved.


	ST200477 - Grain tank

